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M4 AN =22 ASE S 8,151 6,984 1,167
OSHEESSHESAMNEER 8,151 6,984 1,167
OdegUsEd+E 1,167 0 1,167
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H & 0l & AHS B Ml A

A= s)|sd SN SIS JEDSY
MM SESAS N (SYHYSM/ 5 - 5E)
Sol: SEXICIIPEE
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & ol o
S EEPETE 15,731,899 15,580,839
=2 2,938,200 2,934,400
= 7,464,000 7,464,000
< 5,329,699 5,182,439
) 15,604,525 165,453,465
= 2,938,200 2,934,400
=) 7,464,000 7,464,000
= 5,202,325 5,085,065
11,676,615 11,659,555
=2 728,100 724,300
= 7,464,000 7,464,000
= 3,484,515 3,471,255
NEZLANSSHS AT () o, 100 9,500
2 46,050 48,250
= 46,050 48,250
201 LEH2 | 20,600 25,000
=2 10,300 12,500
= 10,300 12,500
01 AtR22IH| 20,600 25,000
O e8| 3,600 8,000
OFXSE DI RMHRS
23 3,600,008 3,600 8,000
= 1,800 4,000
= 1,800 4,000
NEZRATSSHSAT(AD) 277,425 268,425
=2 184,950 178,950
< P,475 89,475
308 XHXI I SOIM 277,425 268,425
= 184,950 178,950
= ®,475 89,475
01 MXISHBARES 277,425 268,425
ONEZReSYSHHZ DS
2 169,950,0002 169,950 160,950
= 113,300 107,300
< 56,650 53,650
N L FIEEESTE 290,060 280,060
201 LEH2 | 166,560 156,560
01 AR22IH| 71,760 61,760
DergH| 65,760 55,760
OsH2HXDLHIHLMES 0,000 0
N Sahsele Y 25012 X 8 (T 42,460 40,000
= 16,000 16,000
= 26,460 24,000




A= sY3)|=d A 0 s2II=d JIE U
H: SEHUSIY(SYHLSY/SY - 5F)
Chel: sENZI|BEE EER=E)
A 2A - B . HA(SH) - MIRAIY - BES Ol &koy N3 A Hwsz2
101 QIAH| 42,460 40,000 2,460
=2 16,000 16,000 0
[ 26,460 24,000 2,460
M IRN22IsSES 42,460 40,000 2,460
[IPSE="g2i b= R SRt =y 2,460 0 2,460
SEMI0l2 AN 3,927,910 3,793,910 134,000
= 2,210,100 2,210,100 0
< 1,717,810 1,583,810 134,000
SOISIEHHSY 697,210 567,210 130,000
307 2I2tol & 162,000 82,000 80,000
04 CIZISHAIAIZ B X 80,000 0 80,000
OsE=XTSHEUEI X2 80,000 0 80,000
308 XIXISHHISOIA 385,400 335,400 50,000
01 IXSHHBAEXS 385,400 335,400 50,000
SEXNEXEZUEIEHIXIK 50,000 0 50,000
LASAIABRILEIXIR(E) 10,000 10,000 0
=2 5,000 5,000 0
< 5,000 5,000 0
201 Lt29Y| 7,000 10,000 A3,000
=2 3,500 5,000 21,500
< 3,500 5,000 A1,500
01 Al22t2|H| 7,000 5,000 2,000
D42 6,000 4,000 2,000
OLL=sEENSHEHLARSES(USH
a) &3 6,000,000 6,000 4,000 2,000
= 3,000 2,000 1,000
(= 3,000 2,000 1,000
03 HAI2HH| 0 5,000 25,000
O AsHELLNEIIS(HA2) (UsHS
) 0 5,000 5,000
= 0 2,500 A2,500
[ 0 2,500 22,500
303 ZAS 3,000 0 3,000
=2 1,500 0 1,500
(= 1,500 0 1,500
01 ZAS 3,000 0 3,000
O AsAMEEIIRSKI|ZAIAH(USHE) 3,000 0 3,000
=2 1,500 0 1,500
(= 1,500 0 1,500
A=) =Y= I H NS 97,000 93,000 4,000
201 Ler2AY) 70,500 66,500 4,000
® 23294l 12,000 8,000 4,000
OAIZZHIS X 12,000 8,000 4,000
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H & 0l & AHS B Ml A

s8)|1=d 2 s JlsEsh
s YAL} (sHH LM /5Y - SE)
AEASAAIEXE (SH9 H2)
2 RA B BAEH) - ARAY - BAS ofl & 7| 3 o HDS2
s0|1sd JIsEsH 29,054,636 26,778,446 2,276,190
= 17,217,550 16,807,550 410,000
2l 169,280 159,280 0
& 11,677,806 9,811,616 1,866,190
s = UHL} s LM/5Y - SE) 28,979,648 26,703,458 2,276,190
= 17,217,550 16,807,550 410,000
2l 169,280 159,280 0
= 11,602,818 9,736,628 1,866,190
ASHESUAIEHAH 18,715,468 16,507,858 2,207,610
= 13,764,550 13,359,550 405,000
2l 169,280 159,280 0
& 4,791,638 2,989,028 1,802,610
AR NSEMHD = 927,000 822,000 105,000
403 MXISHHSK=01H 927,000 822,000 105,000
01 REXIEHMIAt 2 2 2 927,000 822,000 105,000
OE=SS4E50SEANEIIeEE 105,000 0 105,000
dssdide=d 1,686,000 0 1,686,000
201 Zet=E] 20,000 0 20,000
01 Al2teldl 20,000 0 20,000
L= ] 20,000 0 20,000
Osglids=2g a4 M= 20,000 0 20,000
308 ARISHMSOIE 66,000 0 66,000
01 XSS LExRS 66,000 0 66,000
OsgidatsS9SASSHS 220
0l 66,000 0 66,000
403 MXISHHS 201N 1,600,000 0 1,600,000
01 XIXIEHX=EE 1,600,000 0 1,600,000
OsidaSESHANE 2 1,600,000 0 1,600,000
SIS AIY 4,630,000 4,475,000 165,000
= 4,630,000 4,475,000 155,000
403 MXISHHSZ01H 4,630,000 4,475,000 165,000
= 4,630,000 4,475,000 155,000
01 RXIEHMIA 22 2 4,630,000 4,475,000 165,000
OEais:=:ls 23 1,335,000,0002 1,335,000 1,235,000 100,000
= 1,335,000 1,235,000 100,000
Oty da = & 1,475,000,000 1,475,000 1,450,000 25,000
= 1,475,000 1,450,000 25,000
LoleHgdII= &d&d 850,000,000 850,000 820,000 30,000
= 850,000 820,000 30,000
JIEESHACHS2E = 500,000 250,000 250,000
= 500,000 250,000 250,000
403 MXISHHSK=01H 500,000 250,000 250,000
= 500,000 250,000 250,000




= selIsd FA s8I JsEs
I sP)|I=ZYFL(SHENLTN/ s - SF)
Rl MERSYAD|EE (SH9 H2)
A2 2N - BB O9(E) - HISAY - BES il v ol H o CImE=E
01 XEXISHMA 222 500,000 250,000 250,000
DsEcssddgsza
&4 500,000,000 500,000 250,000 250,000
= 500,000 250,000 250,000
oS LA 2,043,918 2,034,918 9,000
403 NXIEHMSA=201& 54,000 45,000 9,000
01 XEXISHMA 222 54,000 45,000 9,000
et AsHFSAILY 9,000 0 9,000
eGSR 2SE(5) 48,450 47,000 1,450
= 23,500 23,500 0
< 24,950 23,500 1,450
101 21=21b 23,450 22,000 1,450
= 11,000 11,000 0
< 12,450 11,000 1,450
M IRINZ22RSE+ 23,450 22,000 1,450
Ddgus2d+g 1,450 0 1,450
SEEAALA2EN(ELEE)(E) 31,160 30,000 1,160
= 15,000 15,000 0
LS 16,160 15,000 1,160
[ elal] 19,560 18,400 1,160
= 9,200 9,200 0
< 10,360 9,200 1,160
M N2 RS2+ 19,560 18,400 1,160
Ddgy=s28+g 1,160 0 1,160
ASHSMIIEES 10,264,180 10,195,600 68,580
= 3,453,000 3,448,000 5,000
< 6,811,180 6,747,600 63,580
D=b O X ASTI= S 360,900 306,900 54,000
403 NXIEHHS A =201& 360,900 306,900 54,000
01 XEXISHMA 2 22 360,900 306,900 54,000
OS2 EESU-SEEYAE 54,000 0 54,000
MHaMBIS QSO MA 232,200 223,200 9,000
308 XM SOIH 9,000 0 9,000
01 MXHMBdEx= 9,000 0 9,000
OUSEAN S HLAIE 9,000 0 9,000
ADIEZAAEHINAHHRA(E) 76,580 76,000 580
= 38,000 38,000 0
< 38,580 38,000 580
101 Q144 11,580 11,000 580
= 5,500 5,500 0
T 6,080 5,500 580
M IRINZZ2NSE s 11,580 11,000 580
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H

62,000
62,000

57,000
57,000

5,000
5,000

H

62,000
62,000

57,000
57,000

5,000
5,000

BHXIZ(AIZ)
& 62,000,000&

H

62,000

62,000
62,000

57,000

57,000
57,000

5,000

5,000
5,000




H & 0l & AHS B Ml A

A= S| 2N =)L SENAD
Hu: SENALSIHUHSGER (SHHSSL /S - S&)
ool =9 SENAASHAR
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & o[-
=2 SEXRAD 4,921,453 4,761,353
2 1,006,500 1,046,500
- 1,270,000 1,270,000
= 2,554,953 2,444,853
) 4,804,049 4,643,949
= 1,006,500 1,046,500
2 1,270,000 1,270,000
= 2,437,549 2,307,449
=9 A 2,361,750 2,311,750
2 568,500 518,500
- 1,270,000 1,270,000
= 523,250 523,250
I 307,000 257,000
2 307,000 257,000
307,000 257,000
2 307,000 257,000
01 MK SRIA=E 307,000 257,000
s&EXAHES SN
23 100,000,002 100,000 50,000
= 100,000 50,000
2,442,299 2,332,199
2 528,000 528,000
= 1,914,299 1,804,199
734,500 625,900
49,500 45,900
49,500 45,900
NEEEWE 2 10,800,002 10,800 7,200
KX SIS R 588,000 483,000
01 ISR =EE 588,000 483,000
mEsEET Bl E RS
2 357,000,002 357,000 252,000
TR 275,589 274,089
101 Q124 24,389 22,889
M JRIAI2RIS 2+ 24,389 22,889
W= R 1,500 0
=olols|zey 87,200 87,200
401 AIEHIZ 20| 0 29,000
01 Al&t| 0 29,000
(| DAIBAHF 42 (D2 A) 0 29,000
405 TarE St 29,000 0
01 AU S ZH S| 29,000 0
mEEElnp @N=IEED 29,000 0




